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6,  F ind the probabi that a randomly selected person in this sa ple has blue eyes. (5 points)
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7.  F ind  the  probab i l that a randomly selected person in this sa e has both green eyes and 2 or
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Green

No credit cards
1 credit card
2 or more credit
cards
Total

37-. gA

442

efs
442 14?- s4.+{A



9. Give an examp of a random variable that is discrete, and
labelwhich is ich, (6 points)
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Stat 1450 F ulas

Unit 2

Class Width = max-ml
Unit 5

Binomial:

Poisson: 6

Unit 6

Unit 7

lie within ft standard

P(A and B)

i f A a n d B a r e

Class Midpoint =

Unit 3

Range=maximum-mi

Coeffi cient of Variation

Chebyshev's Theorem:
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deviations of the mean.

I Q R = Q s - Q r
x-mean xz-scorg= -  =_

stdev

Unit 4

P(A or B) = P(A) + P(B)

P(A and B): P(A) + P(B
independent events

P(A and B): P(A) * P(
dependent events

A) if A and B are
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Proportions
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